

TWO NEW INEQUALITIES WITH RESPECT TO MEANS

TIEQUAN XU AND XIAO-MING ZHANG

ABSTRACT. By the properties of geometrically convex functions, this paper presents two new inequalities with respect to means.

1. INTRODUCTION

Throughout the paper we assume R^n be the n -dimensional Euclidean Space, $R_+^n = \{(x_1, x_2, \dots, x_n), x_i > 0, i = 1, 2, \dots, n\}$, and $x^\alpha = (x_1^\alpha, x_2^\alpha, \dots, x_n^\alpha)$, $x \cdot y = (x_1 y_1, x_2 y_2, \dots, x_n y_n)$, where $\alpha \in R$, and $x = (x_1, x_2, \dots, x_n) \in R^n$, $y = (y_1, y_2, \dots, y_n) \in R^n$.

Suppose $a_i > 0$ ($i = 1, 2, \dots, n$), $\lambda_i > 0$ ($i = 1, 2, \dots, n$), $\sum_{i=1}^n \lambda_i = 1$, and $\alpha > 0, \alpha \neq 1$. They are defined respectively by

$$A(a) = \frac{a_1 + a_2 + \dots + a_n}{n}, \quad G(a) = \sqrt[n]{a_1 a_2 \dots a_n},$$

$$A(a^\alpha) = \frac{a_1^\alpha + a_2^\alpha + \dots + a_n^\alpha}{n}, \quad G(a^\alpha) = \sqrt[n]{a_1^\alpha a_2^\alpha \dots a_n^\alpha},$$

$$A(a, \lambda) = \lambda_1 a_1 + \lambda_2 a_2 + \dots + \lambda_n a_n, \quad G(a, \lambda) = a_1^{\lambda_1} a_2^{\lambda_2} \dots a_n^{\lambda_n},$$

$$Q_n^{[k]} = \left[\prod_{1 \leq i_1 < \dots < i_k \leq n} \left(\frac{a_{i_1} + a_{i_2} + \dots + a_{i_k}}{k} \right) \right]^{\frac{1}{\binom{n}{k}}}, k = 1, 2, \dots, n,$$

and $\bar{G} = (G(a), G(a), \dots, G(a))$.

We shall prove

Theorem 1.1. *Let $m = \min \{a_i; 1 \leq i \leq n\}$, $M = \max \{a_i; 1 \leq i \leq n\}$, and*

$$K_\alpha = \begin{cases} \alpha^2 M^{\alpha-1}, & 0 < \alpha < 1 \\ \alpha^2 m^{\alpha-1}, & \alpha > 1 \end{cases}, \quad L_\alpha = \begin{cases} \alpha^2 m^{\alpha-1}, & 0 < \alpha < 1 \\ \alpha^2 M^{\alpha-1}, & \alpha > 1 \end{cases}.$$

Then

$$(1.1) \quad K_\alpha [A(a) - G(a)] \leq A(a^\alpha) - G(a^\alpha) \leq L_\alpha [A(a) - G(a)].$$

$$(1.2) \quad K_\alpha [A(a, \lambda) - G(a, \lambda)] \leq A(a^\alpha, \lambda) - G(a^\alpha, \lambda) \leq L_\alpha [A(a, \lambda) - G(a, \lambda)].$$

Date: March 16, 2006.

1991 Mathematics Subject Classification. Primary 26D15.

Key words and phrases. Inequality, Arithmetic Means, Geometric Means, Geometrically Convex Functions, S-Geometrically Convex Functions.

This paper was typeset using $\mathcal{A}\mathcal{M}\mathcal{S}\text{-}\mathcal{L}\mathcal{T}\mathcal{E}\mathcal{X}$.

Theorem 1.2. Let $f : [a, b] \rightarrow (0, +\infty)$ be continuous, $\max_{x \in [a, b]} f(x) = M$, $\min_{x \in [a, b]} f(x) = m$, $p : [a, b] \rightarrow [0, +\infty)$ be continuous, $\int_a^b p(x) dx = 1$, and

$$K_\alpha = \begin{cases} \alpha^2 M^{\alpha-1}, & 0 < \alpha < 1 \\ \alpha^2 m^{\alpha-1}, & \alpha > 1 \end{cases}, \quad L_\alpha = \begin{cases} \alpha^2 m^{\alpha-1}, & 0 < \alpha < 1 \\ \alpha^2 M^{\alpha-1}, & \alpha > 1 \end{cases},$$

$$A(f, p) = \int_a^b p(x) f(x) dx, \quad G(f, p) = \exp \left[\int_a^b p(x) \ln f(x) dx \right].$$

Then

$$(1.3) \quad K_\alpha [A(f, p) - G(f, p)] \leq A(f^\alpha, p) - G(f^\alpha, p) \leq L_\alpha [A(f, p) - G(f, p)].$$

Theorem 1.3. Let $k = 1, 2, \dots, n$, $\lambda = \frac{k(k-1)}{n(n-1)}$. Then

$$(1.4) \quad Q_n^{[k]}(a) \geq A^\lambda(a) \cdot G^{1-\lambda}(a).$$

2. LEMMAS

Definition 2.1. ([1]) $H \subseteq R_+^n$ is called geometrically convex set, if $x^\beta y^{1-\beta} \in H$ for any $x, y \in H$, $0 < \beta < 1$.

Definition 2.2. ([1, 3]) Let $H \subseteq R_+^n$ be a geometrically convex set, $f : H \rightarrow (0, +\infty)$ is continuous function. f is called geometrically convex function, if the following inequality

$$(2.1) \quad f(x^\beta y^{1-\beta}) \leq f^\beta(x) f^{1-\beta}(y)$$

holds for all $x, y \in H$ and $0 < \beta < 1$. And f is called geometrically concave function, if the Inequality (2.1) is reversed.

Definition 2.3. ([1, 2, 3]) Let $x = (x_1, x_2, \dots, x_n) \in R_+^n, y = (y_1, y_2, \dots, y_n) \in R_+^n, (x_{[1]}, x_{[2]}, \dots, x_{[n]})$ and $(y_{[1]}, y_{[2]}, \dots, y_{[n]})$ be the decreasing queue of (x_1, x_2, \dots, x_n) and (y_1, y_2, \dots, y_n) respectively. We say (x_1, x_2, \dots, x_n) logarithm majorizes (y_1, y_2, \dots, y_n) , denotes $\ln x \succ \ln y$, if

$$\begin{cases} \prod_{i=1}^k x_{[i]} \geq \prod_{i=1}^k y_{[i]}, & k = 1, 2, \dots, n-1, \\ x_{[1]} x_{[2]} \cdots x_{[n]} = y_{[1]} y_{[2]} \cdots y_{[n]}. \end{cases}$$

Lemma 2.1. ([1]) $a = (a_1, a_2, \dots, a_n)$ logarithm majorizes $\bar{G} = (G(a), G(a), \dots, G(a))$.

Definition 2.4. Suppose $E \subseteq R_+^n$, $f : E \rightarrow [0, +\infty)$. Then f is called S -geometrically convex function, if for any $x, y \in E \subseteq R_+^n$, when $\ln x \succ \ln y$, have

$$(2.2) \quad f(x) \geq f(y).$$

And f is called S -geometrically concave function, if the Inequality (2.2) is reversed.

Lemma 2.2. ([1]) Let $E \subseteq R_+^n$ be symmetric logarithm convex set and have a nonempty interior, $f : E \rightarrow [0, +\infty)$ be symmetric continuously differentiable on the interior of E and continuous on E . Then f is a S -geometrically convex function, if the following inequality

$$(2.3) \quad (\ln x_1 - \ln x_2) \left(x_1 \frac{\partial f}{\partial x_1} - x_2 \frac{\partial f}{\partial x_2} \right) \geq 0$$

holds for all x in the interior of E . And f is a S -geometrically concave function, if the Inequality (2.3) is reversed.

3. THE PROOF OF THE MAIN RESULTS

The proof of Theorem 1.1 Let $I = [m, M]$, $E = I^n$, so E is a bound geometrically convex set, then exists constant C which makes the following inequality

$$f(a) = [A(a^\alpha) - G(a^\alpha)] - K_\alpha [A(a) - G(a)] + C \geq 0$$

holds for any $a \in E$. And f is a symmetric continuous and differentiable function on E ,

$$\begin{aligned} \frac{\partial f}{\partial a_1} &= \frac{\alpha}{n} \left[a_1^{\alpha-1} - \frac{G(a^\alpha)}{a_1} \right] - \frac{K_\alpha}{n} \left[1 - \frac{G(a)}{a_1} \right], \\ \frac{\partial f}{\partial a_2} &= \frac{\alpha}{n} \left[a_2^{\alpha-1} - \frac{G(a^\alpha)}{a_2} \right] - \frac{K_\alpha}{n} \left[1 - \frac{G(a)}{a_2} \right], \\ (\ln a_1 - \ln a_2) \left(a_1 \frac{\partial f}{\partial a_1} - a_2 \frac{\partial f}{\partial a_2} \right) &= \frac{1}{n} (\ln a_1 - \ln a_2) [\alpha (a_1^\alpha - a_2^\alpha) - K_\alpha (a_1 - a_2)] \\ &= \frac{1}{n} (a_1 - a_2) (\ln a_1 - \ln a_2) \left[\alpha \cdot \frac{a_1^\alpha - a_2^\alpha}{a_1 - a_2} - K_\alpha \right]. \end{aligned}$$

From differential mean value theorem, there exists $\xi \in [a_1, a_2] \subseteq [m, M]$, or $\xi \in [a_2, a_1] \subseteq [m, M]$, has $\frac{a_1^\alpha - a_2^\alpha}{a_1 - a_2} = \alpha \xi^{\alpha-1}$, so

$$(\ln a_1 - \ln a_2) \left(a_1 \frac{\partial f}{\partial a_1} - a_2 \frac{\partial f}{\partial a_2} \right) = \frac{1}{n} (a_1 - a_2) (\ln a_1 - \ln a_2) [\alpha^2 \xi^{\alpha-1} - K_\alpha].$$

If $\alpha > 1$, then

$$K_\alpha = \alpha^2 m^{\alpha-1} \leq \alpha^2 \xi^{\alpha-1}, \quad (\ln a_1 - \ln a_2) \left(a_1 \frac{\partial f}{\partial a_1} - a_2 \frac{\partial f}{\partial a_2} \right) \geq 0.$$

If $0 < \alpha < 1$, then

$$K_\alpha = \alpha^2 M^{\alpha-1} \leq \alpha^2 \xi^{\alpha-1}, \quad (\ln a_1 - \ln a_2) \left(a_1 \frac{\partial f}{\partial a_1} - a_2 \frac{\partial f}{\partial a_2} \right) \geq 0.$$

So f is a S-geometrically convex function with Lemma 2.2. From Lemma 2.1 and Definition 2.4, we have

$$f(a) \geq f(G(a)),$$

$$[A(a^\alpha) - G(a^\alpha)] - K_\alpha [A(a) - G(a)] + C \geq [A(\bar{G}^\alpha) - G(\bar{G}^\alpha)] - K_\alpha [A(\bar{G}) - G(\bar{G})] + C,$$

$$[A(a^\alpha) - G(a^\alpha)] \geq K_\alpha [A(a) - G(a)].$$

Let C_1 enough big to $g(a) = L_\alpha [A(a) - G(a)] - [A(a^\alpha) - G(a^\alpha)] + C_1 \geq 0$ for any $a \in E$. Analogously we can obtain that g is a S-geometrically convex function, and

$$A(a^\alpha) - G(a^\alpha) \leq L_\alpha [A(a) - G(a)].$$

Thus the proof of Inequality (1.1) is completed.

If all λ_i are rational numbers, let $\lambda_i = \frac{k_i}{p}$ ($k_i, p \in N$), $p = k_1 + k_2 + \cdots + k_n$,

$$b = \left(\underbrace{a_1, \cdots, a_1}_{k_1}, \cdots, \underbrace{a_n, \cdots, a_n}_{k_n} \right),$$

then from Inequality (1.1), we have

$$\begin{aligned} K_\alpha \left[\frac{1}{p} \sum_{i=1}^n k_i a_i - \sqrt[p]{\prod_{i=1}^n a_i^{k_i}} \right] &\leq \frac{1}{p} \sum_{i=1}^n k_i a_i^\alpha - \sqrt[p]{\prod_{i=1}^n a_i^{k_i \alpha}} \\ &\leq L_\alpha \left[\frac{1}{p} \sum_{i=1}^n k_i a_i - \sqrt[p]{\prod_{i=1}^n a_i^{k_i}} \right], \end{aligned}$$

$$K_\alpha [A(a, \lambda) - G(a, \lambda)] \leq A(a^\alpha, \lambda) - G(a^\alpha, \lambda) \leq L_\alpha [A(a, \lambda) - G(a, \lambda)].$$

If not all λ_i are rational numbers, there exist $\{\mu_{i,j} | \mu_{i,j} > 0, \mu_{i,j} \in Q\}$ ($i = 1, 2, \dots, n$) ($j = 1, 2, \dots$), and $\sum_{i=1}^n \mu_{ij} = 1$ ($j = 1, 2, \dots$), $\mu_{i,j} \rightarrow \lambda_i$ ($j \rightarrow +\infty$). Let $\mu_j = (\mu_{1j}, \mu_{2j}, \dots, \mu_{nj})$, From above proof, we have

$$K_\alpha [A(a, \mu_j) - G(a, \mu_j)] \leq A(a^\alpha, \mu_j) - G(a^\alpha, \mu_j) \leq L_\alpha [A(a, \mu_j) - G(a, \mu_j)].$$

Then $j \rightarrow \infty$, Inequality (1.2) holds.

The proof of Inequality (1.2) is completed.

The proof of Theorem 1.2 is omitted here. Reader may complete it by the definition of integral.

The proof of Theorem 1.3 Let $h(a) = \prod_{1 \leq i_1 < \dots < i_k \leq n} (a_{i_1} + a_{i_2} + \dots + a_{i_k})$, $f(a) = h(a) \cdot$

$[A(a)]^{-\lambda \binom{n}{k}}$, $a \in R_+^n$, then

$$\begin{aligned} \frac{\partial f}{\partial a_1} &= \frac{h(a) \cdot \sum_{2 \leq i_2 < \dots < i_k \leq n} \frac{1}{a_1 + a_{i_2} + \dots + a_{i_k}} \cdot [A(a)]^{\lambda \binom{n}{k}} - \frac{\lambda}{n} \binom{n}{k} h(a) \cdot [A(a)]^{\lambda \binom{n}{k} - 1}}{[A(a)]^{2\lambda \binom{n}{k}}} \\ &= h(a) \cdot \frac{\sum_{2 \leq i_2 < \dots < i_k \leq n} \frac{1}{a_1 + a_{i_2} + \dots + a_{i_k}} \cdot A(a) - \frac{\lambda}{n} \binom{n}{k}}{[A(a)]^{\lambda \binom{n}{k} + 1}}. \end{aligned}$$

Similarly,

$$\frac{\partial f}{\partial a_2} = h(a) \cdot \frac{\sum_{\substack{1 \leq i_2 < \dots < i_k \leq n \\ i_j \neq 2, j=2, \dots, k}} \frac{1}{a_2 + a_{i_2} + \dots + a_{i_k}} \cdot A(a) - \frac{\lambda}{n} \binom{n}{k}}{[A(a)]^{\lambda \binom{n}{k} + 1}}.$$

So

$$(\ln a_1 - \ln a_2) \left(a_1 \frac{\partial f}{\partial a_1} - a_2 \frac{\partial f}{\partial a_2} \right) = (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}}$$

$$\cdot \left[\sum_{2 \leq i_2 < \dots < i_k \leq n} \frac{a_1}{a_1 + a_{i_2} + \dots + a_{i_k}} - \sum_{\substack{1 \leq i_2 < \dots < i_k \leq n \\ i_j \neq 2, j=2, \dots, k}} \frac{a_2}{a_2 + a_{i_2} + \dots + a_{i_k}} \right] A(a)$$

$$\begin{aligned}
& -(\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \frac{\lambda}{n} \binom{n}{k} (a_1 - a_2) \\
& = (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k}}} (a_1 - a_2) \sum_{3 \leq i_3 < \dots < i_k \leq n} \frac{1}{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}} \\
& + (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k}}} (a_1 - a_2) \sum_{3 \leq i_2 < \dots < i_k \leq n} \frac{a_{i_2} + \dots + a_{i_k}}{(a_1 + a_{i_2} + \dots + a_{i_k})(a_2 + a_{i_2} + \dots + a_{i_k})} \\
& - (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \frac{\lambda}{n} \binom{n}{k} (a_1 - a_2) \\
& \geq (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k}}} (a_1 - a_2) \sum_{3 \leq i_3 < \dots < i_k \leq n} \frac{1}{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}} \\
& - (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \frac{\lambda}{n} \binom{n}{k} (a_1 - a_2) \\
& = (a_1 - a_2) (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \left[\sum_{3 \leq i_3 < \dots < i_k \leq n} \frac{A(a)}{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}} - \frac{\lambda}{n} \binom{n}{k} \right] \\
& = \frac{1}{n} (a_1 - a_2) (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \\
& \cdot \left[\sum_{3 \leq i_3 < \dots < i_k \leq n} \frac{a_1 + a_2 + a_3 + \dots + a_n}{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}} - \frac{k(k-1)}{n(n-1)} \cdot \frac{n!}{k!(n-k)!} \right] \\
& = \frac{1}{n} (a_1 - a_2) (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \left[\sum_{3 \leq i_3 < \dots < i_k \leq n} \frac{a_1 + a_2 + a_3 + \dots + a_n}{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}} - \binom{n-2}{k-2} \right] \\
& \geq \frac{1}{n} (a_1 - a_2) (\ln a_1 - \ln a_2) \frac{h(a)}{[A(a)]^{\lambda \binom{n}{k} + 1}} \left[\sum_{3 \leq i_3 < \dots < i_k \leq n} \frac{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}}{a_1 + a_2 + a_{i_3} + \dots + a_{i_k}} - \binom{n-2}{k-2} \right] \\
& = 0.
\end{aligned}$$

Then f is a S-geometrically convex function with Lemma 2.2. Using the Definition 2.4 and Lemma 2.1, we have

$$f(a) \geq f(\bar{G})$$

$$\Leftrightarrow \frac{h(a)}{[A(a)]^{\lambda} \binom{n}{k}} \geq k \binom{n}{k} \cdot [G(a)]^{(1-\lambda)} \binom{n}{k},$$

$$\Leftrightarrow h(a) \geq k \binom{n}{k} \cdot [A(a)]^{\lambda} \binom{n}{k} \cdot [G(a)]^{(1-\lambda)} \binom{n}{k}.$$

thus the proof of Theorem 1.3 is completed.

4. AN OPEN PROBLEMS

Problem 4.1. *What are the best constant K_{α}, L_{α} which make the inequality (1.1)(1.4) holding?*

REFERENCES

- [1] X.-M. Zhang, *Geometrically Convex Functions*. Hefei: An' hui University Press, 2004.6. p: 65, 78, 89, 97, 108. (Chinese)
- [2] Yang Dinghua, *About Inequality of Geometric Convex Function*, Hebei University Learned Journal(Natural Science Edition), 22(2002), no. 4: 325-328. (Chinese)
- [3] C. P. Niculescu, *Convexity According to the Geometric Mean*, Mathematical Inequalities & Applications, 3 (2000), no. 2: 155-167.

(T.-Q. Xu) QINGDAO VOCATIONAL AND TECHNICAL COLLEGE , QINGDAO, 266071 , P.R.CHINA.

(X.-M. Zhang) ZHEJIANG HAINING TV UNIVERSITY, HAINING, ZHEJIANG, 314400, P. R. CHINA.
E-mail address: zjzxm79@sohu.com